

BID TABULATION FOR:

CONSTRUCTION OF THE CULVERT CROSSING  
TO SERVE SIENNA SPRINGS WAY PHASE 2  
SIENNA MANAGEMENT DISTRICT  
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS  
DECEMBER 16, 2025  
LJA ENGINEERING, INC.  
C CORTEZ  
DECEMBER 16, 2025  
1475-1505C (9.2)

BID OPENING DATE:  
BID OPENING LOCATION:  
TABULATION BY:  
TABULATION DATE:  
LJA JOB NO.

| BIDDER NAME                         | ALTERNATE BID PLUS |                |
|-------------------------------------|--------------------|----------------|
|                                     | BASE BID           | BASE BID       |
| 1) HARRIS CONSTRUCTION COMPANY, LLC | \$2,099,526.75     | \$2,140,432.75 |
| 2) FORDE CONSTRUCTION COMPANY       | \$2,511,170.50     | \$2,552,076.50 |
| 3) CASTILLO ARANDA LLC              | \$2,750,402.00     | \$2,791,308.00 |
| 4) JOHN REED AND COMPANY LLC        | \$4,266,299.00     | \$4,372,474.00 |

150/180 CONTRACT DAYS

I, TYLER VOLK, P.E., hereby certify these bid tabulations to be true and correct.

*Tyler Volk*



*Tyler Volk*  
12/24/2025

BID TABULATION FOR:

CONSTRUCTION OF THE CULVERT CROSSING  
TO SERVE SIENNA SPRINGS WAY PHASE 2  
SIENNA MANAGEMENT DISTRICT  
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS  
DECEMBER 16, 2025  
LIA ENGINEERING, INC.  
C CORTEZ  
DECEMBER 16, 2025  
1475-1505C (9.2)

BID OPENING DATE:  
BID OPENING LOCATION:  
TABULATION BY:  
TABULATION DATE:  
LIA JOB NO.

|   |  |      |      | 1) HARRIS CONSTRUCTION COMPANY, LLC |              | 2) FORDE CONSTRUCTION COMPANY |              | 3) CASTILLO ARANDA LLC |              | 4) JOHN REED AND COMPANY LLC |              |
|---|--|------|------|-------------------------------------|--------------|-------------------------------|--------------|------------------------|--------------|------------------------------|--------------|
| NO.   | ITEM DESCRIPTION   | UNIT | QTY  | UNIT COST                           | TOTAL        | UNIT COST                     | TOTAL        | UNIT COST              | TOTAL        | UNIT COST                    | TOTAL        |
| <b>BASE BID DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)</b>           |  |      |      |                                     |              |                               |              |                        |              |                              |              |
| 1.  | 10' X 10' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, DOES NOT INCLUDE CLOSURE POUR, COMPLETE IN PLACE  | LF   | 100  | \$1,534.00                          | \$153,400.00 | \$2,875.00                    | \$287,500.00 | \$1,500.00             | \$150,000.00 | \$3,100.00                   | \$310,000.00 |
| 2.  | DESLITING OF STORM SEWER, AND REMOVAL OF DEBRIS, INCLUDES OFFSITE DISPOSAL, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE  | LF   | 120  | \$2.00                              | \$240.00     | \$2.00                        | \$240.00     | \$2.00                 | \$240.00     | \$500.00                     | \$60,000.00  |
| 3.  | DEWATERING OF CHANNEL BOTTOM FOR CONSTRUCTION OF CONCRETE BOX CULVERTS, (INCLUDES VACUUM WELLS, DEEP WELLS OR ANY MECHANICAL MEANS NECESSARY TO Dewater SITE), COMPLETE IN PLACE   | LF   | 120  | \$100.00                            | \$12,000.00  | \$220.00                      | \$26,400.00  | \$100.00               | \$12,000.00  | \$1,600.00                   | \$192,000.00 |
| 4.  | CITY OF MISSOURI CITY CONSTRUCTION PERMIT, COMPLETE IN PLACE   | LS   | 1    | \$18,000.00                         | \$18,000.00  | \$21,000.00                   | \$21,000.00  | \$5,000.00             | \$5,000.00   | \$15,000.00                  | \$15,000.00  |
| <b>SUBTOTAL BASE BID DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)</b>  |  |      |      |                                     |              |                               |              |                        |              |                              |              |
| <b>BASE BID PAVING IMPROVEMENT ITEMS - INTERNAL - (SIENNA MANAGEMENT DISTRICT)</b>          |  |      |      |                                     |              |                               |              |                        |              |                              |              |
| 1.  | 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE   | SY   | 969  | \$57.25                             | \$55,475.25  | \$74.00                       | \$71,706.00  | \$80.00                | \$77,520.00  | \$130.00                     | \$125,970.00 |
| 2.  | ON-SITE STOCKPILE TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE | CY   | 3536 | \$4.50                              | \$15,912.00  | \$22.00                       | \$77,792.00  | \$15.00                | \$53,040.00  | \$50.00                      | \$176,800.00 |
| 3.  | 8" LIME STABILIZED SUBGRADE, (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE   | SY   | 1123 | \$10.60                             | \$11,903.80  | \$13.00                       | \$14,599.00  | \$8.00                 | \$8,984.00   | \$8.00                       | \$8,984.00   |
| 4.  | LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 8% BY DRY WEIGHT (44 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE  | TON  | 24.7 | \$455.00                            | \$11,238.50  | \$355.00                      | \$8,768.50   | \$400.00               | \$9,880.00   | \$400.00                     | \$9,880.00   |
| 5.  | 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE   | LF   | 464  | \$4.15                              | \$1,925.60   | \$12.00                       | \$5,568.00   | \$7.00                 | \$3,248.00   | \$10.00                      | \$4,640.00   |
| 6.  | 4" CONCRETE SIDEWALK (8" WIDE WIDTH WITH #3 REBARS @ 18" O.C. B.W. 2" CLEAR) INCLUDES 6" STABILIZED SUBGRADE & BASE PLATES FOR VEHICULAR RAILS PER DETAILS, COMPLETE IN PLACE.   | LF   | 464  | \$70.00                             | \$32,480.00  | \$88.00                       | \$40,832.00  | \$110.00               | \$51,040.00  | \$150.00                     | \$69,600.00  |
| 7.  | PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE  | LS   | 1    | \$1,500.00                          | \$1,500.00   | \$1,000.00                    | \$1,000.00   | \$5,500.00             | \$5,500.00   | \$5,000.00                   | \$5,000.00   |
| 8.  | REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE   | EA   | 2    | \$200.00                            | \$400.00     | \$700.00                      | \$1,400.00   | \$500.00               | \$1,000.00   | \$300.00                     | \$600.00     |
| 9.  | CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE   | LF   | 82   | \$16.50                             | \$1,353.00   | \$10.00                       | \$820.00     | \$7.00                 | \$574.00     | \$20.00                      | \$1,640.00   |
| 10.   | FINAL GRADING OF RIGHT-OF-WAY AND ALL RESERVES, COMPLETE IN PLACE  | LS   | 1    | \$2,850.00                          | \$2,850.00   | \$8,000.00                    | \$8,000.00   | \$20,000.00            | \$20,000.00  | \$12,000.00                  | \$12,000.00  |
| 11.   | TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE   | LS   | 1    | \$5,000.00                          | \$5,000.00   | \$1,000.00                    | \$1,000.00   | \$5,500.00             | \$5,500.00   | \$4,500.00                   | \$4,500.00   |
| <b>SUBTOTAL BASE BID PAVING IMPROVEMENT ITEMS - INTERNAL - (SIENNA MANAGEMENT DISTRICT)</b> |  |      |      |                                     |              |                               |              |                        |              |                              |              |
|   |  |      |      |                                     |              | \$140,038.15                  |              | \$231,485.50           |              | \$236,286.00                 |              |
|   |  |      |      |                                     |              |                               |              |                        |              |                              |              |

BID TABULATION FOR:

CONSTRUCTION OF THE CULVERT CROSSING  
 TO SERVE SIENNA SPRINGS WAY PHASE 2  
 SIENNA MANAGEMENT DISTRICT  
 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS  
 DECEMBER 16, 2025  
 LJA ENGINEERING, INC.  
 C CORTEZ  
 DECEMBER 16, 2025  
 1475-1505C (9.2)

BID OPENING DATE:  
 BID OPENING LOCATION:  
 TABULATION BY:  
 TABULATION DATE:  
 LJA JOB NO.

| NO.   | ITEM DESCRIPTION  | UNIT | QTY  | 1) HARRIS CONSTRUCTION COMPANY, LLC |                       | 2) FORDE CONSTRUCTION COMPANY |                       | 3) CASTILLO ARANDA LLC |                       | 4) JOHN REED AND COMPANY LLC |                       |
|---|---|------|------|-------------------------------------|-----------------------|-------------------------------|-----------------------|------------------------|-----------------------|------------------------------|-----------------------|
|   |   |      |      | UNIT COST                           | TOTAL                 | UNIT COST                     | TOTAL                 | UNIT COST              | TOTAL                 | UNIT COST                    | TOTAL                 |
| <b>BASE BID CULVERT CROSSING ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)</b>          |   |      |      |                                     |                       |                               |                       |                        |                       |                              |                       |
| 1.  | METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, LP, 281.499.1539, COMPLETE IN PLACE  | LS   | 1    | \$800.00                            | \$800.00              | \$1,000.00                    | \$1,000.00            | \$800.00               | \$800.00              | \$3,000.00                   | \$3,000.00            |
| 2.  | AS BUILT TOPO BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, LP, 281.499.4539   | LS   | 1    | \$800.00                            | \$800.00              | \$1,000.00                    | \$1,000.00            | \$800.00               | \$800.00              | \$3,500.00                   | \$3,500.00            |
| 3.  | VEHICULAR RAIL, AS PER DETAIL, INCLUDES INSTALLATION AND MATERIALS, COMPLETE IN PLACE   | LF   | 632  | \$335.00                            | \$211,720.00          | \$264.00                      | \$166,848.00          | \$0.00                 | \$0.00                | \$350.00                     | \$221,200.00          |
| 4.  | CLASS "C" CONCRETE - RAIL FOUNDATION, COMPLETE IN PLACE   | CY   | 97   | \$555.40                            | \$53,873.80           | \$974.00                      | \$94,478.00           | \$650.00               | \$63,050.00           | \$1,500.00                   | \$145,500.00          |
| 5.  | PEDESTRAIN RAIL, REFER TO HARDSCAPE SHEETS, COMPLETE IN PLACE.  | LF   | 451  | \$360.00                            | \$162,360.00          | \$245.00                      | \$110,495.00          | \$220.00               | \$99,220.00           | \$375.00                     | \$169,125.00          |
| 6.  | PEDESTRIAN COLUMN AT ENDS OF CROSSING: INCLUDING STONE VENEER, COLUMN CAP, CMU, REINFORCEMENT, AND REQUIRED APPURTENANCES; COMPLETE IN PLACE.   | EA   | 4    | \$5,000.00                          | \$20,000.00           | \$7,000.00                    | \$28,000.00           | \$4,000.00             | \$16,000.00           | \$5,000.00                   | \$20,000.00           |
| 7.  | PEDESTRIAN COLUMN AT BOX CULVERTS: INCLUDING STONE VENEER, COLUMN CAP, CMU, REINFORCEMENT, AND REQUIRED APPURTENANCES; COMPLETE IN PLACE.   | EA   | 4    | \$9,500.00                          | \$38,000.00           | \$7,000.00                    | \$28,000.00           | \$15,000.00            | \$60,000.00           | \$5,000.00                   | \$20,000.00           |
| 8.  | CLASS "C" CONCRETE - RETAINING WALLS, INCLUDES CONCRETE COLUMNS, CLOSURE POURS, EXCAVATION AND BACKFILL, WATERSTOPS, JOINTS, FORMLINERS AND ALL APPURTENANCES, COMPLETE IN PLACE. DOES NOT INCLUDE PRECAST OR STONE VENEER ITEMS.   | CY   | 1084 | \$1,049.95                          | \$1,138,145.80        | \$1,015.00                    | \$1,100,260.00        | \$1,800.00             | \$1,951,200.00        | \$1,950.00                   | \$2,113,800.00        |
| 9.  | CEMENT STABILIZED SAND AT RETAINING WALL FOOTINGS, COMPLETE IN PLACE  | CY   | 219  | \$85.00                             | \$18,615.00           | \$156.00                      | \$34,164.00           | \$90.00                | \$19,710.00           | \$160.00                     | \$35,040.00           |
| 10.   | INSTALLATION AND REMOVAL OF TEMPORARY LOW WATER CROSSING FOR CONSTRUCTION OF BRIDGE, INCLUDES TWO 36" C.G.M.P. OR APPROVED EQUAL (SIGNED AND SEALED SHOP DRAWINGS WILL BE REQUIRED), REMOVAL AND DISPOSAL OF 36" C.G.M.P. AFTER CONSTRUCTION AND RESTORING THE SITE AND SLOPES BACK TO ORIGINAL CONDITION OR BETTER, (SEE LOW WATER CROSSING DETAIL ON EROSION CONTROL SHEET IN THE CONSTRUCTION PLAN SET), COMPLETE IN PLACE | LS   | 1    | \$15,250.00                         | \$15,250.00           | \$68,000.00                   | \$68,000.00           | \$15,000.00            | \$15,000.00           | \$40,000.00                  | \$40,000.00           |
| 11.   | DEWATERING OF CHANNEL BOTTOM FOR CONSTRUCTION OF CROSSING, (INCLUDES VACUUM WELLS, DEEP WELLS OR ANY MECHANICAL MEANS NECESSARY TO Dewater SITE), COMPLETE IN PLACE   | LF   | 60   | \$100.00                            | \$6,000.00            | \$6.00                        | \$360.00              | \$100.00               | \$6,000.00            | \$1,500.00                   | \$90,000.00           |
| 12.   | COFFER DAM OR BLADDER AND TEMPORARY BYPASS PUMPING FOR DURATION OF PROJECT, INCLUDES INSTALLATION AND REMOVAL UPON COMPLETION, COMPLETE IN PLACE  | EA   | 1    | \$10,000.00                         | \$10,000.00           | \$137,000.00                  | \$137,000.00          | \$15,000.00            | \$15,000.00           | \$120,000.00                 | \$120,000.00          |
| 13.   | CONTRACTOR TO DEMUCK TO 3 FOOT DEPTH AND SCARIFY AND PROOF ROLL EXISTING CHANNEL, COMPLETE IN PLACE   | SY   | 1028 | \$8.00                              | \$8,224.00            | \$60.00                       | \$61,680.00           | \$22.00                | \$22,616.00           | \$115.00                     | \$118,220.00          |
| <b>SUBTOTAL BASE BID CULVERT CROSSING ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)</b> |   |      |      |                                     | <b>\$1,683,788.60</b> |                               | <b>\$1,831,285.00</b> |                        | <b>\$2,269,396.00</b> |                              | <b>\$3,099,385.00</b> |

BID TABULATION FOR:

CONSTRUCTION OF THE CULVERT CROSSING  
 TO SERVE SIENNA SPRINGS WAY PHASE 2  
 SIENNA MANAGEMENT DISTRICT  
 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS  
 DECEMBER 16, 2025  
 LIA ENGINEERING, INC.  
 C CORTEZ  
 DECEMBER 16, 2025  
 1475-1505C (92)

BID OPENING DATE:  
 BID OPENING LOCATION:  
 TABULATION BY:  
 TABULATION DATE:  
 LIA JOB NO.

|  |   |      |      | 1) HARRIS CONSTRUCTION COMPANY, LLC |             | 2) FORDE CONSTRUCTION COMPANY |             | 3) CASTILLO ARANDA LLC |             | 4) JOHN REED AND COMPANY LLC |             |
|--|---|------|------|-------------------------------------|-------------|-------------------------------|-------------|------------------------|-------------|------------------------------|-------------|
| NO.  | ITEM DESCRIPTION  | UNIT | QTY  | UNIT COST                           | TOTAL       | UNIT COST                     | TOTAL       | UNIT COST              | TOTAL       | UNIT COST                    | TOTAL       |
| <b>BASE BID CULVERT AND HEADWALL AESTHETIC ITEMS</b>   |   |      |      |                                     |             |                               |             |                        |             |                              |             |
| 1.   | PRECAST WALL CAP, REFER TO HARDSCAPE SHEETS, COMPLETE IN PLACE.   | LF   | 445  | \$75.00                             | \$33,375.00 | \$63.00                       | \$28,035.00 | \$75.00                | \$33,375.00 | \$100.00                     | \$44,500.00 |
| 2.   | PRECAST CULVERT CAP, REFER TO HARDSCAPE SHEETS, COMPLETE IN PLACE.  | LF   | 45   | \$55.00                             | \$2,475.00  | \$215.00                      | \$9,675.00  | \$75.00                | \$3,375.00  | \$75.00                      | \$33,750.00 |
| 3.   | PRECAST BRIDGE DECK TRIM, REFER TO HARDSCAPE SHEETS, COMPLETE IN PLACE.   | LF   | 400  | \$105.00                            | \$42,000.00 | \$90.00                       | \$36,000.00 | \$75.00                | \$30,000.00 | \$150.00                     | \$60,000.00 |
| 4.   | FULL DEPTH (4") STONE VENEER FOR BRIDGE WALL EXCLUDING VENEER INCLUDED IN PEDESTRIAN COLUMNS; COMPLETE IN PLACE.                                | SF   | 230  | \$47.00                             | \$10,810.00 | \$135.00                      | \$31,050.00 | \$40.00                | \$9,200.00  | \$95.00                      | \$21,850.00 |
| <b>SUBTOTAL BASE BID CULVERT AND HEADWALL AESTHETIC ITEMS</b>  |   |      |      | \$88,660.00                         |             | \$104,760.00                  |             | \$75,950.00            |             | \$160,100.00                 |             |
| <b>BASE BID BASE BID MISCELLANEOUS ITEMS</b>   |   |      |      |                                     |             |                               |             |                        |             |                              |             |
| 1.   | STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE       | EA   | 0    | -\$1,000.00                         | \$0.00      | -\$1,000.00                   | \$0.00      | -\$1,000.00            | \$0.00      | -\$1,000.00                  | \$0.00      |
| 2.   | STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE  | HR   | 0    | -\$125.00                           | \$0.00      | -\$125.00                     | \$0.00      | -\$125.00              | \$0.00      | -\$125.00                    | \$0.00      |
| 3.   | STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, COMPLETE IN PLACE   | LF   | 0    | -\$10.00                            | \$0.00      | -\$10.00                      | \$0.00      | -\$10.00               | \$0.00      | -\$10.00                     | \$0.00      |
| 4.   | STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, COMPLETE IN PLACE   | EA   | 0    | -\$1,000.00                         | \$0.00      | -\$1,000.00                   | \$0.00      | -\$1,000.00            | \$0.00      | -\$1,000.00                  | \$0.00      |
| 5.   | FORT BEND COUNTY CONSTRUCTION COMPLETION AND FINAL ACCEPTANCE INSPECTION FEES, COMPLETE IN PLACE  | EA   | 0    | -\$500.00                           | \$0.00      | -\$500.00                     | \$0.00      | -\$500.00              | \$0.00      | -\$500.00                    | \$0.00      |
| <b>SUBTOTAL BASE BID BASE BID MISCELLANEOUS ITEMS</b>  |   |      |      | \$0.00                              |             | \$0.00                        |             | \$0.00                 |             | \$0.00                       |             |
| <b>BASE BID CLEARING AND GRUBBING ITEMS (SIENNA SPRINGS WAY PHASE 2) SIENNA MANAGEMENT DISTRICT</b>          |   |      |      |                                     |             |                               |             |                        |             |                              |             |
| 1.   | STRIPPING OF PUBLIC ROW, INCLUDES REMOVING ALL STUMPS AND ROOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE                                | AC   | 0.34 | \$10,000.00                         | \$3,400.00  | \$25,000.00                   | \$8,500.00  | \$4,500.00             | \$1,530.00  | \$30,000.00                  | \$10,200.00 |
| <b>SUBTOTAL BASE BID CLEARING AND GRUBBING ITEMS (SIENNA SPRINGS WAY PHASE 2) SIENNA MANAGEMENT DISTRICT</b> |   |      |      | \$3,400.00                          |             | \$8,500.00                    |             | \$1,530.00             |             | \$10,200.00                  |             |
| <b>ALTERNATE BID WS&amp;D FIELD CONDITIONS ITEMS</b>   |   |      |      |                                     |             |                               |             |                        |             |                              |             |
| 1.   | DEWATERING RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF   | 120  | \$20.00                             | \$2,400.00  | \$20.00                       | \$2,400.00  | \$20.00                | \$2,400.00  | \$80.00                      | \$9,600.00  |
| 2.   | EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE   | CY   | 500  | \$20.00                             | \$10,000.00 | \$20.00                       | \$10,000.00 | \$20.00                | \$10,000.00 | \$120.00                     | \$60,000.00 |
| 3.   | ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER BEDDING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE                              | LF   | 100  | \$16.00                             | \$1,600.00  | \$16.00                       | \$1,600.00  | \$16.00                | \$1,600.00  | \$30.00                      | \$3,000.00  |
| <b>SUBTOTAL ALTERNATE BID WS&amp;D FIELD CONDITIONS ITEMS</b>  |   |      |      | \$14,000.00                         |             | \$14,000.00                   |             | \$14,000.00            |             | \$72,600.00                  |             |

BID TABULATION FOR:

BID OPENING DATE:  
BID OPENING LOCATION:  
TABULATION BY:  
TABULATION DATE:  
LIA JOB NO.

CONSTRUCTION OF THE CULVERT CROSSING  
TO SERVE SIENNA SPRINGS WAY PHASE 2  
SIENNA MANAGEMENT DISTRICT  
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS  
DECEMBER 16, 2025  
LJA ENGINEERING, INC.  
C CORTEZ  
DECEMBER 16, 2025  
1475-1505C (9.2)

|  |  |      |      | 1) HARRIS CONSTRUCTION COMPANY, LLC |                       | 2) FORDE CONSTRUCTION COMPANY |                       | 3) CASTILLO ARANDA LLC |                       | 4) JOHN REED AND COMPANY LLC |                       |
|--|--|------|------|-------------------------------------|-----------------------|-------------------------------|-----------------------|------------------------|-----------------------|------------------------------|-----------------------|
| NO.  | ITEM DESCRIPTION   | UNIT | QTY  | UNIT COST                           | TOTAL                 | UNIT COST                     | TOTAL                 | UNIT COST              | TOTAL                 | UNIT COST                    | TOTAL                 |
| <b>ALTERNATE BID PAVING FIELD CONDITIONS ITEMS</b>   |  |      |      |                                     |                       |                               |                       |                        |                       |                              |                       |
| 1.   | ADDITIONAL 8" LIME STABILIZED SUBGRADE (MISSOURI CITY SPECIFICATIONS) TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | SY   | 1123 | \$20.00                             | \$22,460.00           | \$20.00                       | \$22,460.00           | \$20.00                | \$22,460.00           | \$20.00                      | \$22,460.00           |
| 2.   | ADDITIONAL LIME FOR SUBGRADE PREPARATION (8% BY WEIGHT) (44 LBS/YD), TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE  | TON  | 24.7 | \$180.00                            | \$4,446.00            | \$180.00                      | \$4,446.00            | \$180.00               | \$4,446.00            | \$450.00                     | \$11,115.00           |
| <b>SUBTOTAL ALTERNATE BID PAVING FIELD CONDITIONS ITEMS</b>                                  |  |      |      |                                     | <b>\$26,906.00</b>    |                               | <b>\$26,906.00</b>    |                        | <b>\$26,906.00</b>    |                              | <b>\$33,575.00</b>    |
| <b>BID SUMMARY</b>   |  |      |      |                                     |                       |                               |                       |                        |                       |                              |                       |
| BASE BID DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)                   |  |      |      |                                     | \$183,640.00          |                               | \$335,140.00          |                        | \$167,240.00          |                              | \$577,000.00          |
| BASE BID PAVING IMPROVEMENT ITEMS - INTERNAL - (SIENNA MANAGEMENT DISTRICT)                  |  |      |      |                                     | \$140,038.15          |                               | \$231,485.50          |                        | \$236,286.00          |                              | \$419,614.00          |
| BASE BID CULVERT CROSSING ITEMS - INTERNAL (SIENNA MANAGEMENT DISTRICT)                      |  |      |      |                                     | \$1,683,788.60        |                               | \$1,831,285.00        |                        | \$2,269,396.00        |                              | \$3,099,385.00        |
| BASE BID CULVERT AND HEADWALL AESTHETIC ITEMS  |  |      |      |                                     | \$88,660.00           |                               | \$104,760.00          |                        | \$75,950.00           |                              | \$160,100.00          |
| BASE BID BASE BID MISCELLANEOUS ITEMS  |  |      |      |                                     | \$0.00                |                               | \$0.00                |                        | \$0.00                |                              | \$0.00                |
| BASE BID CLEARING AND GRUBBING ITEMS (SIENNA SPRINGS WAY PHASE 2) SIENNA MANAGEMENT DISTRICT |  |      |      |                                     | \$3,400.00            |                               | \$8,500.00            |                        | \$1,530.00            |                              | \$10,200.00           |
| <b>TOTAL AMOUNT BASE BID</b>   |  |      |      |                                     | <b>\$2,099,526.75</b> |                               | <b>\$2,511,170.50</b> |                        | <b>\$2,750,402.00</b> |                              | <b>\$4,266,299.00</b> |
| <b>ALTERNATE BID</b>   |  |      |      |                                     |                       |                               |                       |                        |                       |                              |                       |
| TOTAL AMOUNT BASE BID  |  |      |      |                                     | \$2,099,526.75        |                               | \$2,511,170.50        |                        | \$2,750,402.00        |                              | \$4,266,299.00        |
| WS&D FIELD CONDITIONS ITEMS  |  |      |      |                                     | \$14,000.00           |                               | \$14,000.00           |                        | \$14,000.00           |                              | \$72,600.00           |
| PAVING FIELD CONDITIONS ITEMS  |  |      |      |                                     | \$26,906.00           |                               | \$26,906.00           |                        | \$26,906.00           |                              | \$33,575.00           |
| <b>TOTAL ALTERNATE BID PLUS BASE BID</b>   |  |      |      |                                     | <b>\$2,140,432.75</b> |                               | <b>\$2,552,076.50</b> |                        | <b>\$2,791,308.00</b> |                              | <b>\$4,372,474.00</b> |